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Which one of the following is not a non-
changeable resource ?

(A) Solar energy

(B) Wind power

(C) Tidal energy

(D) Mineral oil

On which river is the Tehri Dam built ?
(A) Ganga

(B) Bhagirathi

(C) Godavari

(D) Sutlej

The construction of dams has the

opposite effect on :
(A) Wildlife

(B) Ttribal life

(C) Vegetation

(D) All of the above

Which of the

environmental

following is an

friendly  agricultural

practice ?

(A) Use of chemical fertilizers
(B) Use of insecticides
(C) Organic farming

(D) None of the above
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Medha Patkar is related to :

(A) Sardar Sarovar dam

(B) Tehridam

(C) Bhakhra dam

(D) None of the above

What percentage of the total hydrosphere

is for purpose of drinking ?

(A) 3%

(B) 5%

(C) 10%

(D) 15%

Example of groundwater is :

(A) Streams

(B) Tubewell

(C) Springs

(D) Dams
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8. ffaRed # & &M 7o eRew & 8. Which out of the following are the causes

of soil erosion ?

BRI © ?

(A) mfiEfd @R (A) Unrestricted grazing
(B) 3Hferd Wt (B) Overcultivation
(C) dH-fa=rer (C) Deforestation

(D) Sugad FHI (D) All of the above

0. URRfIP G5 # il JaTg THIT 21T 2 - 9.  The energy flow in ecosystem is always

(A) THieg (A) Unidirectional
(B) ey (B) Multidirectional
(©) (A) 3R (B) (C) Both (A) and (B)
(D) SUYw H H I el (D) None of the above
10.  “Sigfafaerdr o &1 GANT fohar 10. The word ‘Biodiversity’ used by :
(A) dTeex Oil. INT (1986) T (A) Walter G. Roasen (1986)
(B) T (1922) (B) Fitting (1922)
(C) BIelvs (1956) (C) Holand (1956)
(D) SUYd H § I el (D) None of the above
11. U5 S ¥ g drell 4R 2 11. Disease caused by contaminated water is :
(A) FER (A) Fever
(B) oM (B) Influenza
(C) uiferm (C) Jaundice
(D) w3 (D) Migrain
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12, AR Yg¥dh HI ISR & 12. The example of biodegradable pollutant

is:

(A) = HA-H (A) Sewage
(B) UR (B) Lead
(C) wifed (C) Plastic
(D) SUYa H H Bl el (D) None of the above
13. eafy oI dgar o 994 ® ¢ 13. The intensity of sound is measured in :
(A)  foanm ¥ (A) Kilogram
(B) e # (B) Milligram
(C) ¥ H (C) Decibel
(D) URGd H (D) Pascal
14, SIRWTET ¥ SHoll 2l § 14.  Tidal energy is :
(A) T SHolt (A) Kinetic energy
(B) HIfd® SHoll (B) Material energy
(C) o FHull (C) Gravitational energy
(D) AFH SHufl (D) Mechanical energy
15. frefafed # & @9 g & 9ew 9 15 Which of the following constitutes the
TR T P B e & 7 largest ecosystem of the world ?
(A) T (A) River
(B) a7 (B) Forest
(C) © &l He™ (C) Grassland
(D) HENIR (D) Ocean
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16. 3NIfdd TTH HT ISR B 16. Example of abiotic components is :

A) e (A) Trees
(B) ol (B) Fish

(C) qeHoid (C) Microorganism
(D) I (D) Temperature

17. 98 U S UAT UNY Wd bR 8§,  17.  Plants producing self food, are called as :
FEA T

(A) TR (A) Heterotrophic
(B) Ty (B) Autotrophic
(C) (A) ¥R (B) T (C) Both (A) and (B)
(D) SWE ¥ | TS el (D) None of the above
18. NI YATGRYT JAAIIHD] FTHE FRT 18. National ~ Environmental —Engineering
Rera 2 - Research Institute is located at :
(A) BHER 4 (A) Kanpur
(B) AR | (B) Nagpur
(C) oGS H (C) Lucknow
(D) % fowell ® (D) New Delhi
19. SeuEd &1 fovas Hferard WHT AT ot 19. What percentage of the hydrosphere is
37 underground water ?
(A) 1% A) 1%
(B) 2% (B) 2%
C) 3% C) 3%
(D) 4% (D) 4%
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20. 20 IH. ¥ Y ¥ Iu dqTel &F HEAN

g

(A) drg |HIfaT &
(B) 9 &

(C) wod

(D) Suda Wl

21. uIRRfd®! T & Adheusr o o :

(A) I (1935)
(B) HoR (1936) 7

(C) I (1956)
(D) SIfd (1855) =1

22. W4 A NGl B U® b wY A

yefRfd axd 8, O I8 P B
(A) T ST
(B) uRRuft®r RIS

(C) WP
(D) Suda Wl

23. 9 UIRRYfd®! o H qClFd IUHId

2T B
(A) STl A9
(B) &
(C) dm
(D) W
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20.

21.

22.

23.

Areas with annual rainfall less than 20 cm

are called :
(A) Flood prone area
(B) Forestarea

(C) Desert

(D) All of the above

The concept of ecosystem was given by :
(A) Tansley (1935)

(B) Muller (1936)

(C) Khorana (1956)

(D) Darwin (1855)

When food chains are indicated

graphically, it is called :
(A) Food web

(B) Ecological pyramids
(C) Pollutant

(D) All of the above

In forest ecosystem the tertiary consumer
is:

(A) Wild Buffalo

(B) Deer

(C) Snake

(D) Lion
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24, Wai H ol WIFEFRY BT YAD AN 24. Each stage of energy transfer in organism

HEA T is called :

(A) Ol TR (A) Energy level
(B) UNY R (B) Trophic level
(C) W& el (C) Food chain
(D) e ST (D) Food web

25, fa=foRed § 9 ®9-91 araeRey dR&  25. Which one of the following is not a

o climatic factor ?
(A) A (A) Temperature
(B) &I (B) Fungi
(C) auf (C) Rainfall
(D) 3maar (D) Humidity
26. UIRRef@ e & qd MR T : 26. The main bases of ecological pyramids
are :
(A) SRS (A) Producers
(B) SUMIdT (B) Consumers
(C) oTEeH (C) Decomposers
(D) Sugad FI (D) All of the above
27. 3R 99T BT GBI BRY T - 27.  The main cause of acidic rain is :
(A) UGRS3 (A)  Sulphuric acid
(B) iEfed ard (B) Nitric acid
(©) (A) 3R (B) T (C) Both (A) and (B)
(D) SUYa H A Bl 7l (D) None of the above
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28. q-qu%f T fohdd BN @7 SIIEHOT TTAT AT 28. How many types of succession is found

39 in nature ?
(A) 2 (A) 2
B) 3 (B) 3
(C) 4 (C) 4
(D) 5 (D) 5
29. U@ TeIe FHT § 29.  Chipko movement is related to :
(A) HSell U A (A) Fisheries
(B) ¥aI TR0 W (B) Soil conservation
©) ¥l ure T @ (C) Poultry
(D) T RETT A (D) Forest conservation
30. TITGROT F37eT WERI § 30. Environmental education is helpful in :
(A) CIFTHG &g (A) Awareness
(B) WREI T (B) Conservation
(C) NI fda =g (C) Nation development
(D) Sugad F4I (D) All of the above
31. DT ol BT TR Tl § ° 31.  Which is not an energy source ?
(A) DI (A) Coal
(B) Siret (B) Diesel
(C) (C) Mica
(D) el (D) Iron
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32. UM H A1 9 3MBIed ehd ©

(A) 15%
(B) 25%
(C) 40%
(D) 50%

33. PF-G1 T B AT BT IR G 2 ?

(A) T fawpre
(B) I H 3T o
(C) adi § Uiy oy
(D) dfei @1 fmior

34. DIF-UT el Sl BT SRV T8l g ?

35. Gl Glerved &I fda Ufrerd WIT |El

(A) 90%
(B) 92%
(C) 97%

(D) 99%
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32.

33.

34.

The area currently covered by forest is :

(A) 15%

(B) 25%

(C) 40%

(D) 50%

Which one is not a cause
deforestation ?

(A) Population exploitation
(B) Forest fire
(C) Afforestation

(D) Dams construction

of

Which is not an example of surface water ?

(A) Rivers
(B) Ponds
(C) Lakes

(D) Tubewell

What percentage of the total hydrosphere

is sea water ?

(A) 90%
(B) 92%
(C) 97%

(D) 99%
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36. UdId H Qi °h Bl $ed o : 36. Mineral cycle of nature is called :

(A) I-TH (A) Bio-cycle

(B) YNNG dHh (B) Chemical cycle
(C) TAH TH (C) Nitrogen cycle
(D) SUYa H H Bl el (D) None of the above

37. Wa - B qu o> 9 37. Field > Rat = Snake — Eagle is

T SRRV 3. an example of :

(A) A TTE Gl Bl (A) Terrestrial food chain
(B) SIcIg Wl §Eell &l (B) Aquatic food chain
(C) IIRT W& el Bl (C) Detritus food chain
(D) RSl WE el Bl (D) Parasitic food chain

38, 3T ¥ fb9 g &1 ABR ddd Uy 38. Which of these organisms has a

e 4 2 g 2 diet  consisting only on plant
matter ?

(A) TRERI (A) Herbivores

(B) icwel (B) Insectivores

(C) HANRRI (C) Carnivores

(D) WarERI (D) Omnivores
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30. fog feq @1 fovg ugfawor feag & wy # 39. Which day is celebrated as World

TR S & ? Environment Day ?
(A) 5 (A) June 5th

(B) 5 e (B) July5th

© 57 (C) May 5th

®) 5 E (D) January 5th

40. uRRyfqel T @& @M Uge, 40 The functional aspects of the ecosystem

3. are :

(A) TN Th (A) Nutrient cycle
(B) I dh (B) Food cycle

(C) &oll Tsh (C) Energy cycle
(D) SUgad JHI (D) All of the above

41. qu:T B foxol 9 U ol pedd 41. Energy in the rays from the sun is

5. called :
(A) IR FHolt (A) Tidal energy
(B) WR Sl (B) Solar energy
(C) Udq Sl (C) Wind energy
(D) il Huil (D) Water energy
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42. 3NIF WA H eRv fhgd 9gd I Bl 42. The ozone layer depletion is due to the

37 increase of :
REESIER (A) Oxygen

(B) 1T Sr3ifaTSS (B) Carbon dioxide

(C) TARYGARIGTEA (C) Chlorofluorocarbon
(D) SUYd H H IS el (D) None of the above

43. g & 999 ¥ 9 TH 99 U W 43. World’s biggest and richest forest is

3. found :

(A) Thal W (A) on mountains

(B) W% & bR (B) on seaside

(C) fdyad v@r & |4 (C) near equator line
(D) SUYa H H I el (D) None of the above

44. q@i F Ufdgq @) R §89 dlel Tel @ 44. Example of river which flows east to

TR % : west :

(A)  TEER! (A) Godavari
(B) Wdlefdl (B) Sutlej
(C) M (C) Ganga
(D) THaT (D) Narmada

Ag-701 (14) Set-D
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45.

46.

47.

Artesian well is found in :

(A) Mountain

(B) Desert

(C) Plains

(D) All places

Which of the following is related to

desert ?

(A) Sahara

(B) Gobi

(C) Thar

(D) All of the above

Which one is not an example of mineral

fuel resources ?

(A) Graphite

(B) Coal

(C) Petrol

(D) Uranium
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49,

50.
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(B) WHA & 918 JHAM BH A H
(C) I URE®
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(A) TRRfG® T
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g

(A) 78%

(B) 21%

(C) 0.93%

(D) 0.03%
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48.

49.

50.

Bt cotton is a genetically modified crop

which helpsin :

(A) Increase soil fertility

(B) Reduce post-harvest losses

(C) Pest resistance

(D) Herbicide resistance

The combined form of all living and non-

living components is called :

(A) Ecosystem

(B) Hydrological cycle

(C) Bio-chemical system

(D) Food web

The carbon dioxide percentage in

atmosphere is :

(A) 78%
(B) 21%
(C) 0.93%

(D) 0.03%
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51. WIM® USd & 51. Primary pollutants are :

(A) TR ST3aRTES (A) SO,
(B) 19 AFRITGIES (B) CO
(C) FTEgioM 3ifavrgs (C) NOy
(D) Sugad FHI (D) Al of the above
52. od & UWIG ¥ : 52. By the effect of dust :
(A) T gd I © (A) Stomata opens
(B) ®I 9 B W © (B) Stomata closed
(C) ufRrdr el & el 8 (C) Leaves become yellow
(D) R iR o & (D) Leaves drop
53. &l UGy &I FeW AEYUl IRS o : 53.  The main cause of soil pollution is :
(A) i (A) Iron
(B) iR (B) Plastic
(C) JTHNIG (C) Detergents
(O BEERRSECIERIES (D) Carbon dioxide

o

54. BES9 q\iw, IRRISE UG gal HAX Pl 54. Bone cancer, thyroids and skin cancer are

FROT 2 - dueto:

(A) Y YT (A) Air pollution

(B) STl UV (B) Water pollution
(C) ¥aI Ugyu (C) Soil pollution

(D) AR gy (D) Radioactive pollution
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55. TITGROT GRET 3Ifefag| IR gl o : 55. Environmental Protection Act was

implemented in :

(A) 1985 ¥ (A) 1985
(B) 1986 H (B) 1986
(C) 1987 # (C) 1987
(D) 1988 # (D) 1988
56. MW (O3) ¢ : 56. Ozone (O3) is :
(A) WAHS Ygud (A) Primary pollutant
(B) fediu® Ugus (B) Secondary pollutant
(C) (A) ¥R (B) TFI (C) Both (A) and (B)
(D) SWE ¥ | TS el (D) None of the above
57. Tl Al @rer Ngell &1 |El ofd 2 @ 57. The true end of any food chain is :
(A) TG ST (A) Primary consumer
(B) fedue Suwra (B) Secondary consumer
() Rr (C) Predator
(D) JUUChH (D) Decomposer
58. TR f3reT ey ® ? 58. Environmental education is essential only
at:
(A) TIPS TR W (A) Primary stage
(B) WAM® &R W (B) Secondary stage
(C) fawafdeney R W (C) University stage
(D) Sugad FI (D) All of the above

Ag-701 (18) Set-D



59. PIF-T Hed ATl Pl ISV T8l & ? 59. Which one is not an example of raw

material ?
(A) B! (A) Wood
(B) ENI (B) Diamond
(C) T (C) Gold
(D) WY (D) Animals

60. DMF-Ul UM WrE Ul B yorkrdl g 60. Which three edible plants species

& W TS I E T 60% constitute about 60% supply of the
. world’s food energy intake ?

PR & 7

(A) ﬁé, TS, St (A) Wheat, Oat, Barley

(B) TG, HPI, g (B) Rice, Maize, Wheat

(C) g, S, Haw (C) Wheat, Barley, Maize

(D) Suga H A Bl el (D) None of the above

Ag-701 (19) Set-D



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.
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Answer Sheet) R 8 A 99 2| SRS |
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IR A=Y 8] 81|

7. il TH. 3R. STR-U5& (OMR Answer Sheet)
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3T OMR Answer Sheet SUTE &RM & I
B WeT B W W By | weneff oo ey
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11, UE-%e ¥ dN-ga, deldeicy, Yok a0l Heger
B o SHT T BT START BRAT afoid 8 |

12. 9 & B U9 IS WURRY § A=ar 89 &
T H YT BT U WURYT & A BT |

Fecaqul  YEIYRKIT Wiel W Y Wi PR ol o

2y
i3
E
oy,
a,
j
8



	AG-701-Cover-Set-D.pdf (p.1-3)

